2008
GENERAL STUDIES

Paper 1

Time : 3 Hours ] ' ' [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada. If
any confusion arises in the Kannada version, please refer to
the English Version of the questions. '

Answers must be written r_'rin the medium specified (English or

LER

Kannada) in the Admission Ticket issued to you, which. must
be stated clearly on the cover of the answer book '.in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the

Admission Ticket.
Candidates should atitempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.
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CcC (2)
PART A

1. Answer any two of the following questions in not more than
200 — 250 words each : - 20x2=40

(a) Discuss the nature of the Revolt of 1857.

P — L R I TS DRy 1) Mg PP SRR PRSI E ot tha aarlsr
(D)  BXPLAIN LOE Propgialllile aild Lie  IDCLHULS UL WWLDL Ul wite oy

nationalists of the Indian National Congress.

(¢} Critically evaluate the social reforms with special reference to
emancipation of women in Mysore state between 1881 and 1900.

(d) Trace the various dimensions and facets of Backward Class

Movements in Karnataka.

2. Answer any four of the following questions in about 100120 words
each 10x4=40

(a) Summarize the challenge thrown by the Gadhar revolutionaries to

colonialism.

(b) Do you agree with the view that the scheme of constitutional
changes introduced in 1909 Act was designed as a milestone in the
‘divide and rule’ strategy ?

(c) Highlight the work of Swarajists in the ‘National Movement during
1922 — 1925,

(d) Major part of Dewan Mirza Ismail’s administration was spent in
suppressing the popular agitations in Mysore. Comment.

(e) Briefly explain the significance of ‘Mysore Chalo’ movement.

(f) Summarize the literary development in Karnataka during the

post-Independence days.
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FYAST CIOWTETL LTEY E‘in’@ﬁ o 200 dom 250 IoMYnR weUmod
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(a)
(b)

(¢)

(d)

1857 T worfo HORTEZI, 0By IR

2T 300 T2 fod aaori’rm ZioletAIn] ooF, oMY TIODNEFH DI
a—aaiasbmgab’f’?o& aqb‘aa‘n‘e;m wWRBA.

& DBne3sn ae?eﬁ n’md &raugj 1881 dom 1900 T S@ds
emqacm@ fonuao‘o cmmcs’t:g SES modnE ﬁamdﬁﬁv@i
&’)mmfséﬁmﬁ ;’Dc’mé’a%. : '

FEITD LoD Srfs'm’ BHTINEG gy wodm;ﬁa_n’va’g{ ToR
aﬁszz&nﬁw’b HTH&L.

SYNT CIVPITTRL Towy, IR wIdA.  T03e0D HOBG WSO
100 - 120 TERYLTLIeE : | | 10x4=40

(a)

"(b)

(c)

(d)

{&)

(f)

TMEBHHBOD  ATF | NECT 5IWON SRS RSNy
TRaTYOBMYR, AT '

1909 O SEcHY bR IoRm WodmmET  wowng
pemdonEy | Ldm  ewn”  mobrIear  SOneprded
O’JQMN@DF\&@ ROL WPTYONTEY, ) 2w JeTD ?

1822 - 1925 © E:?EZJ’@OJ) U’ae?a oW H%ﬁ@o&@ "dmmm&n‘?’ L plevsiatal
o0 aT OE‘?'T'EE’]ND é@w

DSRETT 02E . YRYANTT BEVIT wEHIer TOS BEATY TR
BT wée,i&é’rf?'m BEE @C}‘O’d FL ﬁfaedbéa taas’c’ wﬁ 2)33
LT BPR.
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Answer any fwo of the following questions in about 50 — 60 words each :
5%2=10

(a) Write a note on the ‘Safety Valve Theory’ related to the foundation
of the Indian National Congress.

(b) What were the socto-economic factors responsible for the genesis of
communalism in India in the 19th century ?

(c) Write a note on the Belgaum Session {1924) of the Conerece

e B e L VIV

Write brief notes on all of the following in about 20 - 25 words each :
2x5=10

(a) Rabindranath Tagore
(b) R.IN. Revolt

(¢) ILN.A. Trials

(d) Kengal Hanumanthaiya
{e) Koot Rebellion
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TYNT OO TR ST TIBnent Sow 50 - 60 IoOR Q0T T0Z QUZOR :
: 5x2=10

(a) zpT2eo oy, eom a’aorj’)%;qa’ TIN Towodar T W FTor AR08
27} 2.0 wwcé 228300,

(b) 193¢ TTIRTEO yRTERY Heécohad R FCems
AIREL-BRET BoBnYd oI, ?

©)  S¥miond SES (1924 0Y) Borat wosess o $30d 2B,

9NT DU TYMOML Bew 20 Bors 25 TINER BreTmod 833 23AWb
_ 2x5=10

(a) TRoTToG Todeot
(b} RIN. ol

() IN.A. Sesaosdriss
(d) Fomes ToeoZody

(e) B T oL
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PART B

6. Answer any three of the following questions in about 200 - 250 words

each ; _ : 20x3=60
(a) Examine the implications of global economic erisis on Indian GDP
growth in general and IT industry in specific.

(b) Right to Information Act is best seen as an attempt to bring

awarcenaso and troncparonasr im O TOMmosman  nsnsmey g e 1 reahlia

Comment and justify.
(c) Critically examine the poverty alleviation programmes of India.

(d) Discuss the measures taken by Government of Karnataka in recent
years to rectify regional imbalance.

(e) Indian poverty shown on screen can fetch Oscars. Comment.

(f)  Critically examine the problems faced by farmers of Karnataka and
illustrate your answer with decrease in agricultural productivity.

6. Answer any five of the following questions in about 100 — 120 words
each : 10x5=50

(a) Discuss the implications ~of the proposed Greater Bangalore
Authority on the city infrastructure.

(b) Highlight the objectives of National Rural Employment Guarantee
Act.

(¢} Explain the present power scenario of Karnataka and comment on
the anomalies.

(d) Highlight the recommendations of National Knowledge Commission.

(e) Examine the implications of Tribal Act of India on forest and
wildlife conservation,

(f) Highlight the objectives of Right to Education Bill.

(g) Critically examine the need and significance of private —public.
partnership projects.

(h) ‘Corporate governance at cross-roads’ — Illustrate the event with
Satyam episode. -



7y cc

ot B
5. 3IINT oI EITTR Toewd a:.“ér‘i‘ﬁ?r‘? UDSE)N 3030 gogT 200 Dol

250 [oNenR dpeTmodT e 20x3=60

(a) 23r3% sHT DT A, zuhs%d’oﬁ:aﬁ t0388 GDP Jdvmedrion Soedd 3y
eoegmen IT goddod ded Dedoss TOFTINYSY, OB,

(b) SRHE OIS T, FPAWIoDT, URYSH 2} ATERATTY 3
REFRT DHR *‘DO’Q’E?E‘E@’QSJESJ' BOOT = sferslcy e:)ocb ERIRTNI. ATT
2R A, waﬁ)woﬁ:ﬁaﬁ 392 T FenfER.

(e} 2PUBEQ FEOTUE WEIT ADBAE O FODE TENY Lk QFDTVE F,FemoN
ZOdeDR. _

(d) mZReds vTIscosTSy = &'::im‘ aaﬁ’ BooE L3 NREO’:@ raeez.%a“
STENYO @rﬁirao&tﬁaﬁ a’mn’?m D 23’23&;

(6) PTIE LEIITF BOBod Hedd Feedrad SEOE PRI, D,
SRTIOVNYR, B9 ?

(N SSEUEE GEoy SmMOMETIT WAV, OmHITEFTA HObeOL
DI G 0T TFI0I ALIVDTNTT FomIE O Jay, VI I,

6. FTYAST OO TR DL uz;rfe:'rf GOZOX. B,303R0t0 LOZT 100 dor 120
SONY  08onOTLe 10x5=50
(a) 2%}536“'2307'{%’@0'3 TJp,RFTW @@dﬁoﬁooa’ SNTE DRORITODNE TESINY
3ot ATHT TOmomHnY 27} e A,

(b) m%mﬁ N0 YuEdaert a5o8d oczion W0, FLonnYRy, 39X

(o) TMENEE TS d[F TOLIOHRYy, DTOX DY ST I MY o]
DT, BRTLEHNTRY, wSWD.

{(d) Ua%qu 2N BOSRINE dpaURINY DRIROBTT 9.

(e) &90‘:@5 B Eja'éae& "JOO'%ESQﬁD e poBE &Dd'ﬁ'&dﬂ Eplodeiafase
TOFOTTY, POB WBND.

(£ é%?acs’ BB auzvininfee) mgaé E;Stseoiar‘i‘%* z.)ﬁ SIDAD.

(g) WRTA-HTERIT FENG, TOolenINY g ) TRTORENYT,
LECTVEE BN T02ed,

(hi 'gSestadond mdnerdesst wres FZEI® FUSoL LFdeng
CITITY DTOA.
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7 Answer/write short notes on, any six of the following questions in about
50 — 60 words each :

(a)
(b)
{c)
(d)
(e)
()

(g)

(h)

5x6=30

Special Economic Zones

Pseudo secularism obstructing anti-terrorism efforts
Virtual technblogy

Justify India’s claims to a seat in the Security Council.
National river lining project

Can you account for the near collapse of the Public Distribution
System in most of the States ?

Why do you think the total ban on smoking in public places is not
very effective ?

What 1s NINJNA ?

8. Write brief notes on all of the following in about 20 — 25 words each :

(a)
{b)
{c)
(d)
(e)
()
(g)
(h)
(1)

2x10=20
Micro-credit groups
Core banking system
Rain Water Harvesting
A.R. Rehman
Minimum Support Price
Major Sandeep Unnikrishnan
Datta Peeta tradition

Kodava culture

‘Moral policing

‘White Tiger’
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(a) DBexm BOHET DTOONNLD.

(b) _E:Dqs’é ma‘ééea‘mdaom’ 2JO3REB) T PjeNoldw @od::s;rf@ﬁ £532373.

(©) =oEDE (Virtual) 3038 |

@ winm Dorvohd RE SBHED RO SPEICHE BETIOT, DL,
(e) FordpcEBod Tog tow wboimezslé.

6 emded comvd MRCEAT DIGE Ffom Hika TR P 263
D00y NEHHERDTD 7 |

(@) ToREEDE FUNVY FADET SREET HoPpETOR  DRCHA
wFH oo wbmmmac&mﬁo oL BPTIONE, Footansesd 7

(h) NINJNA oomde ?

o sensnen ouss, HosT uEM wdded. HRoleomd wegT 20-20
Zone méoﬁgdﬁeﬁa : ax10=20

(a) 48, wogd TWOTHIISO

(b) 2peq wRodon® §IE

(c) THYWXDT Fpo3y

(@) 2.0 St

(e) ENF Woww

() eno? RoBED® LIRFFS
@) oF s ToowS

(h) 3RBS Tom, @

1 Dol Tomensmmodd

1 D% &9 (White tiger)
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9. (a) Explain the construction and uses of the following diagrams : 4
(i) Histogram
(11) Pie-chart

(b) Following data relate to the amount spent on import and export by
a country for the period from 1991 to 1998 :

- Year Import Export
(in crores of Rs.)} (in crores of Rs.)
1991 283 42-8
1992 34.7 | 51.3
1993 629 70-4
1994 951 . 824
1995 784 . 65-7
1996 853 938
1997 92.5 112-4
1998 107-4 128.5

Plot a time-series graph to the above data and comment on your
observations. 8

(¢c) The amount of income-tax paid by a sample 125 employees of a
company is summarized in the following frequency distribution :

Income tax paid No. of employees
(in '000 Rs.)
0-5 12
5—- 10 29
10-15 36
15 - 20 23
20— 25 11
25 -30
30 - 3b
3540 2
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(a)

(b)

{c)

(11) | | ce
wonn C
FIAT d‘ea:az.%‘e:)h’%* o33 aﬁasb_o emw"'os.@t’h'%faigl B i 4
(i) &‘%engo ' '
(11) E.‘.JZ—ZS'D&SF ‘
8 3IVBoR TToBE, 1991 Bos 1998 T emHohmSR mom Resw
B DB Tiy) TN AJodReN1ET SHWOAR Kowodhad ;-

Sme P or SR,
_ (Bpoctd Th. YY) (30083 TR, nyd)

1991 98-3 428

1992 34.7 513

1993 62-9 704

1994 95-1 82-4

1995 784 65-7

1996 85:3 | 93-8

1997 92-5 1124

1998 107-4 128-5
edT sz, FTO-ROD MmFRy oud R A, wTLReFINTIY,
OB LT -3PR. _ _ 8

2,000 FOTAOL Tmd 125 wd\méeﬁﬁ% TODVORTAE oD 307
BRAVOAT ROTOTIER), TFFOR BTIE DITHCHE) ICRSTLVAD

HOD20NSHAT emoch-301 md@écﬁrw ".-doaﬁzs
(’000 Tw.rtyd)
0-5 12
T 5-10 | | 29
10 — 15 : 36
15 — 20 23
20 - 25 ' 11
25 — 30 -
30 - 35 . 4
35 - 40 2
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(i) Draw the less than cumulative frequency curve.
(ii) Determine the median, lower quartile and upper quartile.

(ii1) What is Fhe income-tax level above which 15% of the
employees fall ? 8

10. (a) A batsman finds that by scoring a half century in the 6 innings
of his test matches he has bettered his average of the previous
5 innings by 3 runs. What is his average after the 6th innings ? 4

(b) For the data given below on related variables x and y
(i} draw a scatter diagram,
(ii) compute the coefficient of correlation, and

(iii) interpret clearly the results in (i) and (ii).

x: 110 100 140 120 80 90

v 70 60 80 60 10 20
246+42=10

(¢) In how many different ways can the following be done ?
(1) Selection of 2 books from 6 different books.
(ii) Arrangement of the letters of the word ‘SATYAM'.

(iii)  Construction of a two-digited even number using the digits
0, 1, 2, 8, 4, 5, without repeating any digit. 2x3=6
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(b)
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(i) =ouzs,03 FoTHOH BTIE TTZEY LT A0,

(i) ooenohat, IENAT wagered I BedF Phfcalaplafeliatiasy
Qe DAL

(i1i) o3 s@oo 30n mé.éﬁ& 2oeed 15% Eﬂ)ciraéeﬁﬁ’% ao%?e.a—'t:s’a‘gfc? ? 8

3?\5 Eﬁ"‘; oc:s’?‘ffé 6 fai‘bon'ea’@ e TBT NFR0D ToROT, 'e’?ﬁ 2008 5
QRO NS "‘JU_ON@Ojom 3 TINYOS QU SRABLORTITETY, WL
&J.um'@ ﬁotﬁnfi’a%ma’ 6 Bom®, S08T 2333 BTORD am ? 4

TowoHB x wHEy y Nen 39N oo AT A

(i) 2,00 23002 6@&3}3%@@3&'&60&6, _
(il) BERO0H THEOTIRY DEITIE, W

i) (i) menie (ii) T Sdzooznesy XFmon SoamdR.
x: 110 100 140 120 80 90

v 70 60 80 60 10 20

2+6+2=10
Bt BYNTTTY OF, DG BeANTO) ST KOG, !

) 6295 PRINVT 2 PRI, wol, TR,
(i) " SATYAM oow S5 9801 eeaEs.

(ii1) odmTe LBodow PIooIIEIALAE 0, 1 2, 3, 4, b ©OINYIY WIA
DT B0dNY Nmﬁ’oaﬂo&) T, 2x3=6
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Time : 3 Hours |/ [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada. If
any confusion arises in the Kannada version, please refer to
the English Version of the questions.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the

Admission Ticket.
Candidates should attempt questions from all Parts.

The number of marks carried by each question is indicated

with the question.

The length of the answers should not, as far as possible, exceed

the specification given for the guestion.
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PART A

Answer any one of the following questions. Restrict your answer to

200 - 250 words : 20x1=20

(a) Discuss the problems and challenges of regional imbalance in
Karnataka with special reference to the Hyderabad — Karnataka
region.

(b} Examine the impact of coalition politics on the working of
parliamentary democracy in India.

Answer any three of the following questions. Restrict your answer to

100 — 125 words each : 10x3=30

{a} Bring out the status, problems and challenges faced by women
representatives In the working of Panchayati Raj institutions in
Karnataka.

(b) Discuss the arguments for bringing the judiciary within the
purview of the Right to Information Act,

(e) Analyse the recommendations made by the Sarkaria Commission

with specific reference to the appointment and dismissal of State
Governors.

(d) Examine the ways-and-means by which the ‘Bhoomi’ project has
strengthened e-governance in Karnataka,

{e) Discuss the major issues and challenges of urban governance raised
in the Second Administrative Reforms Commission Report.

Answer any four of the following questions. Restrict your answer to

50 - 55 words each : 5x4=20

(a) Examine the importance of the National Rural Employment

Guarantee Act (NREGA).

(b) Discuss the importance of the Delimitation exercise with specific
reference to Karnataka.
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IINT oIMWEITTH word JIK w00, VeI, MgT 200 - 250 Tonen

NeTTodTeIe 20x1=20

(a) ﬁdagam:ﬁ TIOE LT %C\?waﬁﬁg& NJexm ﬁﬁaa’cﬁ@%iﬁaom TRELITT
@ﬁeés WHLIROTT ﬁaﬁoﬁéﬁ% B WEDAINFIY, OB W3rA.

(b) ¢PUSBE WoxBeoD BJRPTHIT et TAWT, TTNY  Tomdeodhn
TOBTE D, TOOR,

AT CINPHITIETH TwD: TFNYR VIR, TBodeord ev3T 100 - 125
TONOR SutTTo2TeR | 10x3=30

(1) FTIEWTE TowpoDET Tow' FWHOD FTONE ITETBONEG  wD&VD
FIIGNY MITWF, BT IMOWITHT T, =y N wif
TN,

(b) =W wWOIT BT FoANZOD WA TYEIWONDR, w¥maxmeiedor vy
TEOTID TOBMEY, 03 WA,

(c) TIWNY TORTIVTTY SR TITWR | 5D TLINRYED WY AL BT
BTNV, DB MESEOPATROE FErdoT sadsimsy SRATHE
DTOTEIYRY, DBeAR.

(d) ‘Lol TDoIeemIol0 I D8 TN LPINNY HLAOT FIruds
DT, T BETTITR, (e-governance) WOTRIE 00Ty SO,

() DHURRC BERTE ZHICEBNY esosnens ESD’&‘:OJDQ ST BwEYST oSow
TES0E0 DTOLMERY, ToMp Teeoney, OB @ TevwnNd 2om wii
WA,

FYAS LINFPTOTTR Ty [ ZNYR vOIDR. J@odeom ¥wgT 50 Bor
55 TEWEN LeTmodueies: ¢ 5x4=20

(a) 0‘0%8033 T79,000800 emc?;aém’ 2322d deens (NREGA) o m_)maaéé’ox:as‘:d
DT TDHOL,,

(h amwsw@ a3 ﬁma’a’@@&@@om &Jéﬁ’&iﬁoﬁa @oﬁ%m’
(Delimitation exercise} maeésm& 23230 2,

{Turn over
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(e)
(d)

(e)

(4]

Discuss the nature and working of the Finance Commission.

Examine the major issues raised by the Supreme Court in the
Golaknath case.

Bring out the important provisions in the Representation of
Peoples’ Act 1951 to deal with the problem of ‘criminalisation of
politics’.

(f)  Discuss the emerging trends in the Indian Administrative culture.
Write short notes on all of the following. Restrict your answer to

20 - 25 words each : 2x10=20
(a) Public Interest Litigation (PIL)

(b)
(c)
(d)
(e)
(f)
(g)
(h}
(1)
G)

Creamy layer

Inner-party democracy

Sachar Committee Report

The 104" Constitution Amendment

Sarva Shiksha Abhiyan

Jawaharlal Nehru National Urban Rural Mission (JNNURM)
Nanavati Commission |
Cauvery Water Disputes Tribunal

The Nagana Gowda Committee
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(c) Tradoad eso3nene ﬁmw THZ) FooE NEsEEBoD &Jﬁ 23285 2,

(d) Racesrzop® TFORTY FINEOWTYOTDVOONT R JEVTT  TIND
DHOHNYY, TOBEOR.

(e) ‘COWBLONT VTTIPEFTM TeNRODRY, AOWAFETYN BT T390
s 1951 DO TT0L DTV ONTEY, JTRSA.

(f) PTBE vwEYe %'ox'w&o&)ez BARCN YOTTOROJTLES BRANY aarj Wiea,

TYNT LePNeTe IToimd wBdnd. Zdodetcad evdgTxmp 20 dom 25
ToNY oBohoaiess. 2x10=20

(a) TRTERIT 2BoTY T, (PIL)

(b) 28 =0

() w¥-E¥, TEWbE,

{d) =TT Wwd TTUh

(¢) 104 ¢ Rodmew lasbia

(H  =SE 2%, BHOINT

(g) mozmvwef JxCw tm%eoﬁo Sno mpgoerd Kox (JNNURM)
th) Tooo=3 esodmert

(i) oD BOLTHE FYOPTOBFY

(J) NS TR R

[Turn over
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PART B

5. Answer any one of the following questions. Restrict your answer to
200 ~ 250 words : 20x1=20

(a) What do you mean by inclusive growth 7?7 Discuss the strategy
adopted in this direction by both Centre and States.

{b) Bring out the main difference between two (1992 & 2005) Human
Development Reports of Government of Karnataka.

6. Answer any three of the following questions. Restrict your answer to
100 - 125 words each : 10x3=30

(a) Explain the objectives of Karnataka State Agricultural Produce
Processing and Export Corporation Ltd. (KAPPEC) in exporting
horticultural products.

(b) Highlight the loan waiver scheme announced in the Union Budget
2008 - 09.

(¢} Explain the reasons for failure of WTO talks on Doha issues in
July 2008 at Geneva.

(d) Give a brief outline on the Fringe Benefits Tax (FBT} in India.

(e) Analyse the measures taken by the Government of Karnataka to

attain fiscal diseipline.
7. Answer any four of the following gquestions. Restrict your answer to

50 — 55 words each 5x4=20

(a) Point out main features of Swarnajayanti Gram Swarozgar Yojana.

(b) Explain the role of KSSIDC in the development of small industries

in Karnataka.

{¢) Describe the functions of Finance Commissions specified In
Article 280(3) of the Constitution.
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FYNT OIPJNTIETTR Wl ag’)é;ﬁ Wg’@%. Dﬁaé UO§U 200 - 250 moren
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(a) =SROF SvSnn oonded 7 & ofobh) deom, T TomnETmE
BYSRAZLOBTHT JoIT T, TOBy WF L.

(b) FHEWT FRETE UM FRNS oPFY Soony (1999 =3y 2005)
REDT o, TFRRNERy WAL,

IGNIPNVEY oMPITTL ToeTe TIMeT  w0IDH. T30  PVIT
100 — 125 Sonen SesmEosTe 10x3=30

(a) BRUMOE WS FNER UF), SRMTY FT0e LT Do TA VT T, RoR,T

TIML Uy, e aoawzs (KAPPEC) m%@a’rﬁ%”@{ wesDAD.

(b) 2008 - 09 T Feom, Bod TP TIEE FRCATEPT WO, 03eCIon
08T, 0BTy, S9R.

(c) Betmwded 2008 T we) $oN9SQ RAmesg SET QY @m0
ToFUR (WTO) SoBIZME0. OHFOTNED Fo0BNTSy, JTdA,

(d)  tPTIE wous oY 387 (FBT) o Srmdednday mos,Zmon 294,

(c) DZECH FFTY FOPTIL THELT IIETD %ﬁ@o&tﬁbiﬁ TIONYRY, 30|

&

-l
DJek

[l

o

FINS oINPmerTe e, IFNON evgdr. FBodeomd  wIT 50 - 55
TINET WeOToET e ' 5x4=20

la) HEAERODOE M gdmeasrmc*’ odnemSod 08 e.n%sarf%fag &2,

(b) FRELFTY wEY %mbén’@: eszb%amﬁ Tewopawod KSSIDC o &ogmay
T ATOA.

(c) Wongemm 280(3) e wma%ecﬁa’@ WENATHE Tadom  esodaenny
FIEJMY 1t DTOR,

{Turn over
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(d)

(e)

(f)

Write short notes on all of the following. Restrict your answer to

{8)

Enumerate the objectives of Special Economic Zones Policy 2000 in

India.

Explain the strategy of Government of Karnataka brought out in

the “Medium Term Fiscal Plan” 2000 - 01 to 2004 — 05,

Mention the method of measurement of child malnutrition adopted

in the third National Family Health Survey (NFHS -3} 2006.

20 — 25 words each :

{a)
(b)
(c}
(d)
(e)
(f}
(g)
(h)
(1)
()

Demographic Dividend

Karnataka State Finance Commission

Panchasutra in Karnataka Agricultural Policy — 2006
Sampoorna Grameena Rozgar Yojana

Gender Budgeting

Microfinance

Yashaswini Health Insurance for farmers

Good Governance

Stree Shakti Yojana

District Planning Committee (DPC)

2x10=20



(9) DD
(d) oUsE LR BRHEFTSOON It 2000, AnT qf:’é@o;faﬁfém NTRDA.

(0} “TEES 93360 ago&@emﬁ” 2000 -01 dozm 2004 — 05, @.c:fcs’@
NCASSTOIATIT ITICLIT ATETD 3’03@@@053?#?&’% DDA,

)y shaeode ma‘—'iveoﬁ oW SBRCT, ‘:fﬁﬂgﬁ (NFHS-3) 2006, 25T
HTMY T BRETBODTY, BYODTHIE, A0 DFIRNEIY SPA.

SUNT CORYNINR sT83T S WIWD. T,2cdeom LOFTEP 20 o 25 SENY
Lol T, 2x10=20

(a) BBperosst Gatomt

(b) ETELT Toly JLITIRO esodmer

(c) BFREWTD TR ed 2006 THhoem TowRRT,
(d) ROZREE MR TRERIMTT 0daks

(e) SDormgd3 BONTOD REOD

(f)  Fg TEREE BRENR SO

{(g) %367‘@?‘. ODNTRR STHET BATAY)

(j) 2R olatxm T (DPC)

[Turn over



LD

16.

11.

(10)

PART C
Answer any one of the following questions. Restrict your answer to
200 - 250 words : 20x1=20

(a) Explain diagrammaticaily the salient features of natural drainage
systems of India.

(b) Discuss the distribution and production trends of Iron Ore in India

with special reference to Karnataka.

Answer any one of the following questions. Restrict your answer to
100 — 150 words : 10<1=10

(a) Write about trends of urbanization since 1971 in India.

(b} Discuss the broad features of land use .in India with a note on
trends of non-agricultural land use in Karnataka.

Answer any fwo of the following questions. Restrict your answer to
50 words each : : 5x2=10

(a) KExamine the route proposal for Ganga — Cauvery Canal.
(b) Write critically on the seismic zones of Peninsular India.

(c) Examine the role of Express Highways in India.



10.

11,

{11} DD
won C
OIPPTTOL  Wwold  TINR  w0Z0R. O, V3T 200-250  Sonen

ST o delesd,
20x1=20

(a)  ¢IPTSE ZLPOT JeTTor eoel FILOR LB ©F NS, Seamoy,d odnodnt
Snist

(b) ERDIFRE VY oBeE Nasmddadeom U0 Ez%cam’ WIS 23UR
Tons &”03%:3’;3053 @%gr\‘@@l 58 2.,

OIMPIOTA  wods [IR  wdIOR. AW, w3 100150 momer
QT To3TLIeED, 10x1=10

(a) 1971 T J03T 003G SNOCE0NE TFInvm, HOB Ewd.

by FTERTEY FackesT yewod wedod IFNEH TowoprE LT
Odnchnt 1T e wedod TRY OB BN S0 .

CIRPITTL QTR FINOH  vzgoR. A, wIT Tew 50 Torer
QLT TR, 5x2=10

{a) Tomm oaed mendn TERYSEOINTOR STorEe & wﬁ TOBeO3,.
{b) RT3 TcHEcS QBT rFodT TOoDNY 2378 SDTTE Z FToN TAWD.

() PPTET SFEFRT SEONY IT, O ToOBOL.
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(12)

PART D

12. Answer any one of the following questions. Restrict your answer to
200 ~ 250 words : 20x1=20

13.

14,

(a)

(b)

Explain how the implementation of a major irrigation project
without properly educating the farmers of the region leads to “loss
of fertility of the land” and “socio-economic problem”.

Discuss the impact of coal based power plants on the environment
of coastal Karnataka and its mitigative measures.

Write brief notes on any four of the following. Restrict your answer to

100 — 120 words each : ' 10x4=40
(a) Nuclear weapons

(b) Gene therapy

(¢) Balanced diet

(d) Nanotechnology

(e) Hazardous wastes

(f) Radiation technology applications

Write short notes on all of the following. Restrict your answer to

20 — 25 words cach : 2x10=20
(a) Bio-petrol

(b} Soil conservation

(c)
(d)
{e}
()
(g)
(h)
(i)
8)

Mini Hydro-electric projects

Silica fume

Kyasanoor Forest Disease (KFD)

Satellite Imageries

Solar Satellite — Aditya

Jawaharlal Nehru Centre for Advanced Scientific Research
Tejas aircraft

Bluetooth



{13} DD

wn D

12, 39NT oINFIRETL 2ot IR 0ZOL AW, 0T 200 dor 250 TIMY
s dondoles: 20x1=20
(1) Towopme) mulesc tgje’bﬁ ROOIRE IO DerEE T 00T
Toodeendnay, wOT FHHEOoR Bert “Wrinod Fosglon IFE,”
Tene “Fandec-sHee LI Plelastaplant: tad QONTY, HTIOA.
(b) sorusc Toome Zuedw mORTT  Sed TOTED 55008 ok
FEOTES DT TOMBE I BET TTJLETIODMERY, t3e3e 2,

13. ¢Ns OO TOTTHR Fowy, ooy wri sTdmed widhd. I 3oseonn
&rogo’m 100 D2 120 Sond &Jé&ﬁ@daﬁﬁs’a. 10x4=40
(a) TCT@RL T IO
a2y
(b  wormek 483
(¢} BH32¢03 w0

(d)  TRat o8
o] eyl

B

(¢} ©mooXT0 TENY
(D30 SoZR T FoNn

14. 36Ny ogRnens 008z Uk, BIodeeom wo3Tmp 20 Dom 25
TN DI0XATLIeB. 2x10=20

(a) T Slaee?

by g KOU‘U;FS

(¢ =g wOm et BOodees N

(dr 20® e

(e)  FANAT> T, aodnd (KFD)

)y  evmn® BEed (Satellite Imageries)

(g) =T NSTN,T- SO,

(h) =EEToRL? STTH SRODHTOE FppAF BoBsegT oo,

(it Bewm® DUTFT,

J)  wptisg®



